INDIAN SCHOOL AL WADI AL KABIR
Class: IX Department: Social Science Sub: History

Chapter: 3 Topic: Nazism and the Rise of Hitler Year: 2023 -24
Worksheet No: 3

. Choose the correct option:

1. which of the following group of countries signed the Tripartite Pact in 19407
A. Austria, Germany, Japan

B. Germany, USA, Russia

C. Italy, Germany, Japan

D. Italy, Germany, France

2 Which of the following was not part of Nazi ideology?

A. Jews were the most inferior and undesirable section of society.
B. Germans are the descendant of Pure Aryan race.

C. Society should be rule by the Nordic Aryans.

D. Poles are the desirable section of the society.

3 Which of the following pairs is not correctly matched?
A. German Parliament ——— Reichstag
B. Nazi Youth Organization——— February Revolution
C. Secret service Agency ——— Volkswagen
D. World’s biggest Stock organization——— Wall Street Exchange (USA)
Ans. C. Secret service Agency ——- Volkswagen
4 What was ‘Dawes Plan’?

A. A plan which imposed more fines on Germany

B.A plan which withdrew all punishment from Germany

C. A plan which reworked the terms of reparation to ease the financial burden on the
Germans

D. None

5 The state-sponsored, organized violence against the Jews and their properties was known as?
A. The Holocaust

B. The Pogrom Night

C. Kiristallnacht

D. The Final Solution

6 What was Hitler’s ideology of ‘lebensraum’ or living space?

A. Multi-storied buildings should be built in Germany to increase the living space

B. The world must be occupied enabling the material resources and power of the German nation.
C. New territories had to be acquired for settlement

D. both (B) and (C)

7 Which of the following incidents started the process of the 2" World War?
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A. Annexation of Czechoslovakia by Germany.
B. Japanese attack on Pearl Harbour.

C. Invasion of Poland by Germany.

D. Attack on Soviet Unions by Germany.

Auschwitz was famous for the:

A. Centre for mass killing during Nazi Germany.

B. Centre for educating the German children about Nazism.
C. Centre for giving Military training to the German youth.
D. None of the above.

The Weimar Republic was called as ‘November Criminals’ because,
A. They signed the peace treaty at Versailles with the Allies.

B. They crushed Spartacists with the help of free Corps

C. They misused Article 48

D. They secured loans from USA

10.

Arrange these following incidents according their timeline.

i) Integrated Austria and Germany in 1938.

ii) Hitler pulled Germany out of league of Nations and reoccupied the Rhineland.
iii) A Tripartite pact was signed between Germany, Italy and Japan.

iv) Germany invaded Poland

options:

A. i), ii), iii), iv)

B. ii), i), iv), iii)

C.iii) iv), ii), i)

D. iv), ii), iv), i)

Assertion and Reasoning:
In the questions given below, there are statements marked as assertion (A) and reasons(R). Read
the statements and choose the correct options:

Assertion: USA was unwilling to join the World War Il.

Reason: USA feared the impact of economic problem that the World War | had caused.
Options:

A. Both A and R are true and R is the correct explanation of A.

B. Both A and R are true and R is not the correct explanation of A

C.Ais true and R is false.

29.10.2023 Prepared by: Anindita Bhadra Page 2 of 4




D.Ais false and R is true
Ans: A.Both A and R are true and R is the correct explanation of A

2. Assertion (A): Weimer Republic was not received well by its own people.
Reason (R): It was not democratically elected.
Options:
A. Both (A) and (R) are true and (R) is the correct explanation of (A).
B. Both (A) and (R) are true, but (R) is not the correct explanation of (A).
C. (A) is true, but (R) is false
D. (A) is false, but (R) is true
Ans. C. (A) is true, but (R) is false
3 Assertion: On 3rd March1933, the famous Enabling Act was passed.
Reason: This Act established Democracy in Germany.
Options:
A Both A and R are true and R is the correct explanation of A.
B. Both A and R are true but R is not the correct explanation of A.
C. Alis true but R is false.
D. Ais false but R is correct.
Ans. C. A is true but R is false.
4, Assertion: Nazi ideology believed in the equality of People.

Reason: The Youth League of the Nazi was founded in 1922.
Options:
a. Both AandR are true and R is the correct explanation of A
b. Both A and R are true and R is not the correct explanation of A
c. AistrueandRis false.
d. Aisfalse and Ris true
Ans: D. (A) is false and (R) is true

. i) Read the paragraph carefully and the answer the following;

All boys between the ages of six and ten went through a preliminary training in Nazi ideology. At
the end of the training they had to take the following oath of loyalty to Hitler: ‘In the presence of this
blood banner which represents o Fuhrer | swear to devote all my energies and my strength to

the saviour of our country, Adolf Hitler. I am willing and ready to give up my life for him, so help
me God.’

A) How all schools were cleansed and purified under the Nazis?

Ans: Teachers who were Jews or seen politically unreliable were dismissed.

B) In which organization the students had to join at the age of 10?

Ans: At the age of 10, the Good German children had to enter Jungvolk.

C) What was taught to the children in different youth organization?

Ans: Children were taught to be loyal and submissive, hate Jews, and worship Hitler.

ii) | From September 1941, all Jews had to wear a yellow Star of David on their breasts. This identity

mark was stamped on their passport, all legal documents and houses. They were kept in Jewish
houses in Germany, and in ghettos like Lodz and Warsaw in the east. These became sites of
extreme misery and poverty. Jews had to surrender all their wealth before they entered a ghetto.
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Soon the ghettos were brimming with hunger, starvation and disease due to deprivation and poor
hygiene.

A) What was the name of the film made to create hatred against the Jews?

Ans: The most infamous propaganda film against the Jewish was “The Eternal Jew” where they
stereotyped and marked.

B) What was the reason for the traditional Christian hostility towards the Jews?

Ans: They had been stereotyped as killers of Christ and usurers.

C) Who were considered as the “undesirables” during Nazism?

Ans: Apart from the Jews the physically and mentally unfit Germans, Gypsies, blacks, the Russians,
the Poles were considered undesirables in the Nazi State.
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